UxxcRh

S0 JUEGO DE DADOS
Y AGCESORIOS

@@ ®® | 23

USO PESADO CUADRO PUNTAS PIEZAS

Qc""\°e

%
. ‘ N .
\NG 04

copiGo PIEZAS CUADRO [~ [ Y
18 4

52134 23 3/8” Cajametdlica5396 1



UXX=A CONTENIDO

\° C0DIGO DESCRIPCION e CODIGO DESCRIPCION \° C0DIGO DESCRIPCION
5012H Dado 3/8" largo 6 puntas 3/8 9 5028H Dado 3/8" largo 6 puntas 7/8 17 5226H Dado 3/8” 6 puntas 13/16
2 5014H Dado 3/8" largo 6 puntas 7/16° 10 5212H Dado 3/8" 6 puntas 3/8 18 5228H Dado 3/8" 6 puntas 7/8
3 5016H Dado 3/8" largo 6 puntas 1/2 1 5214H Dado 3/8" 6 puntas 7/16" 19 5249 Matraca 3/8" reversible
4 5018H Dado 3/8" largo 6 puntas 9/16° 12 5216H Dado 3/8" 6 puntas 1/2 20 5260 Extension de 3/8" x 3
5 5020H Dado 3/8" largo 6 puntas 5/8 13 5218H Dado 3/8" 6 puntas 9/16" 21 526006 Extension de 3/8” x 6”
6 5022H Dado 3/8" largo 6 puntas 11/16” 14 5220H Dado 3/8" 6 puntas 5/8 22 5270 Nudo universal 3/8
7 5024H Dado 3/8" largo 6 puntas 3/4 15 5222H Dado 3/8" 6 puntas 11/16” 23 5396 Cajametal 38 x 17 x5.5cm

8 5026H Dado 3/8" largo 6 puntas 13/16” 16 5224H Dado 3/8" 6 puntas 3/4



